EE 207 Fall 2009

Project

Consider the following Low pass filter circuit 
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 If the input to the LPF is x(t) and the output is y(t). 
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  If  the input is given as   
Find the followings:

  (a)  The impulse response of the filter h(t) ?
  (b)  The output y(t) ? (use the convolution integral) 
(c)  Using the Matlab ,  Plot the output y(t) found on (b) ?

Using the Matlab and the Discrete Fourier Transform and its inverse  fft , ifft   find the followings:

(d)  Plot the output y(t) using the fft and ifft ?
Using the and the Matlab  Symbolic Toolbox , use the Fourier Transform  fourier and the inverse Fourier ifourier, find 

(e) An expression for the output y(t) ?

(f) Plot  y(t) ?
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